-@- \verb|HLT_part_Z0-sig0.110000-alpha-1.99|

-®- \verb|HLT_part_Z0-sig0.110000-alpha0.00|

-®- \verb|HLT_part_Z0-sig0.110000-alpha2.00|

0.20 1

\verb|rho-th4|

0.10 1

\verb|log10(A/A0)_ref|
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-@- \verb|HLT_part_Z0-sig0.130000-alpha-1.99|
-®- \verb|HLT_part_Z0-sig0.130000-alpha0.00|
-®- \verb|HLT_part_Z0-sig0.130000-alpha2.00|
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\verb|log10(A/A0)_ref|



\verb|rho-th4|

-@- \verb|HLT_part_Z0-sig0.500000-alpha-1.99|
-@- \verb|HLT_part_Z0-sigQ.500000-alpha0.00|
-@- \verb|HLT_part_Z0-sigQ.500000—-alpha2.00|
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\verb|log10(A/AQ)_ref




